PROFILE
DES/IGN.

Hinweis fiir Fachhéndler: Wenn Sie dieses Produkt fiir den Konsumenten installieren, bitte tibergeben sie ihm / ihr nach der Installation die folgende
Benutzeranleitung.

Vielen Dank fiir den Kauf des RM™ System. Bitte lesen Sie diese Hinweise gut durch, bevor Sie eine Installation des
Zubehors versuchen. Eine richtige Installation ist zur Einhaltung der Garantierichtlinien von Profile Design erforderlich.
Falls Sie bei der Installation Hilfe brauchen, wenden Sie sich bitte fiir Hilfe an lhren 6rtlichen Profile Design-Fachhandler,
indem Sie bei www.Profile-Design.com einloggen und "Fachhandlersuche" ausfiihren, oder durch einen Anruf zur
Profile Design-Kundendienstnummer.

RM™ System

Installationsanleitung

PROFILE
DES/IGN.

Note to Dealers: If you install this product for the consumer, please provide him/her with this owner’s manual after installation.

RM™ System

Installation Instructions

Thank you for purchasing the RM™ System. Please read these instructions thoroughly before attempting to install
this accessory. Proper installation is required for compliance with Profile Design’s warranty policy.

If you need help with this installation, please seek the assistance of your local Profile Design dealer by logging on
to www.Profile-Design.com and using "dealer search" or by calling Profile Design's customer service number.

RM System - Parts List
Ref # Qty

Part Description
Plate-RM System
Pin-RM System
Hanger-RM System
Bracket-RM System
Bolt-M6x20
Washer-M6
Kage - Black*

5(6-7Nm)

o|lo|bh|lw|N]| =

[CJ) [ S [ NG [ () [ ) N

~

3 4 RM System - Teilliste
./\7\\ ] Ref.-Nr Anz. Teilbezeichnung
\\\i‘&%& 1 1 Platte (RM System)
2 &?\«‘&( s 2 2 Stift (RM System)

3 1 Hénger (RM System)
4 1 Halterung (RM System)

5(6-7Nm) 5 4 M6x20
6 4 M6 Unterlegscheibe
7 2 Kage, schwarz*

ABB. 1 *Nicht dargestellt

WARNUNG &

¢ Nichtbefolgung dieser Warnungen kann zu Bruchschaden, Schlupf und/oder einer Fehlfunktion dieses Profile
Design-Teils fuhren, was zum Verlust der Beherrschung des Fahrrads und ernste Verletzungen verursachen kann.
[AP1100-1-1]

* Wann immer ein neues Teil am Fahrrad installiert wird, sollte dieses zuhause in der ndheren Umgebung, an einem
Ort ohne Hindernisse und Verkehr, gut ausprobiert werden (Helm tragen). Uberpriifen Sie dabei, ob alles richtig
funktioniert, bevor Sie auf eine Fahrt oder an ein Rennen gehen. [AP1100-5-1]

* Rennen (StraBen-, Berg- oder Multisport-) setzen Fahrrader und deren Bestandteile extremen Belastungen aus
(wie auch die Fahrer) und verkiirzen deren Gebrauchsleben wesentlich. Falls Sie an solchen Ereignissen
teilnehmen, dann kann das Produktleben dem Grad bzw. der Haufigkeit der Teilnahme entsprechend bedeutend
verkirzt werden. Die "normale Abnutzung" kann beim Rennenfahren und normalem Gebrauch stark verschieden
sein, weswegen Profis oft jedes Saison neue Fahrrader und Teile brauchen, und ihre Rader durch professionelle
Mechaniker warten lassen. Um lhre Sicherheit zu gewahrleisten, sollte Ihr Fahrrad regelmaBig mit besonderer
Sorgfalt Uberprift werden. [AP1100-6-1]

¢ Ein Aerobar kann eine Fahrstellung erforderlich machen, die fur viele Fahrer neu oder ungewohnt ist. Es ist
ratsam an einem Ort mit wenig Verkehr zu Gben, um sich an veranderten Steuer- und Handlungsweisen des
Fahrrads zu gewdhnen. Bitte seien Sie dabei vorischtig, wenn Sie diesen Lenkertyp zum ersten Mal benutzen.
Sehen Sie beim Fahren auch unbedingt nach vorne und nicht nach unten auf den Boden. [AB1100-2-1]

Profile Design garantiert alle Prodkte fiir zwei Jahre ab dem urspriinglichen Kaufsdatum.

Fur fernere Einzelheiten zur Profile Design-Garantie und Sturzersatzstrategie siehe www.profile-design.com/warranty"
www.profile-design.com/warranty

www.profile-design.com

FIG.1 *Not Pictured

WARNING &

¢ Any failure to follow these warnings and instructions can result in breakage, slippage and or other malfunctioning of
this Profile Design component causing a loss of control of the bicycle with serious injuries. [AP1100-1-1]

e Whenever you install any new component on your bike make sure you thoroughly try it out close to home (with
your helmet) where there are no obstacles or traffic. Make sure everything is working properly before going off on
aride or to a race. [AP1100-5-1]

¢ Racing (road, mountain or multi-sport) places extreme stress on bicycles and their components (like it does riders)
and significantly shortens their usable life. If you participate in these types of events, the lifetime of the product
may be significantly shortened depending upon the level and amount of racing. The “normal wear” of a
component may differ greatly between competitive and non-competitive uses, which is why professional level
riders often use new bikes and components each season as well as having their bikes serviced by professional
mechanics. Particular care should be placed in the regular examination of your bicycle and it’s components to
insure your safety. [AP1100-6-1]

* Aerobars can require riding positions that are new or different to many riders. It is advisable to practice using
these bars in a low traffic area to become accustomed to any changes in the steering or handling characteristics
of the bike. Please exercise caution when using these types of handlebars for the first time. Also make sure that
you continue to look forward when riding and do not look down towards the ground. [AB1100-2-1]

Profile Design warrants all its products for two years from original purchase.
For further details and the complete Profile Design warranty and Crash Replacement policy please visit
http://www.profile-design.com/warranty

www.profile-design.com
RM System 01/02/2012



PROFILE, Systéme RM™
DESI G” Instructions d’Installation

Note pour le détaillant: Si vous installez ce produit pour votre client, veuillez lui donner son manuel utilisateur apres I'installation.

Merci pour avoir acheté le Systeme RM™. Veuiillez lire attentivement ces instructions avant d’essayer d’installer cet
accessoire. Une installation correcte est nécessaire pour la conformité avec la police de garantie de Profile Design. Si
vous avez besoin d’aide avec cette installation, veuillez demander de I’aide a votre revendeur local Profile Design en
vous rendant sur www.Profile-Design.com et en utilisant "dealer search" ou en composant le numéro du service
clientéle de Profile Design.

PROFILE, Sistema RM™
DESI ‘” Instrucciones de Instalacién

Nota a los Comerciantes: Si usted instala este producto para el consumidor, proporcione este manual del propietario a él/ella después de la
instalacion.

Le agradecemos por la compra del Sistema RM™. Por favor lea estas instrucciones completamente antes de intentar
instalar este accesorio. Instalacion apropiada es necesaria para cumplir con la politica de garantia de Profile Design.
Si necesita de ayuda con esta instalacion, busque la asistencia de su comerciante local Profile Design a través del
sitio de web www.profile-design.com y utilizando "localizador de revendedor" o llamando el numero del servicio al
cliente de Profile Design.

3 4 RM System - Liste des Piéces
R # de Réf. | Qté Req. Description des piéces
\\\%‘\X}Q/f.): 1 1 Plague de montage-RM System
&ﬁ'g 2 2 Axe-RM System
3 1 Récepteur-RM System
4 1 Support-RM System
5 (6-7Nm) 5 4 Boulon-M6x20mm
6 4 Rondelles-M6
7 2 Porte-Bouteilles Kage — Noir*
ABB. 1 *Non-illustré

AVERTISSEMENT &

* Toute impossiblité a suivre ces avertissements et directives peut résulter en une brisure, un glissement et ou tout
autre dysfonctionnement de ce composant Profile Design pouvant provoquer une perte de controle de la bicyclette
avec des blessures graves. [AP1100-1-1]

Toutes les fois que vous installez tout nouveau composant sur votre vélo assurez-vous de bien I'essayer prés de
chez vous (avec votre casque) dans un endroit ou il n'y a pas d'obstacles ni de circulation. Assurez-vous que tout
fonctionne correctement avant de faire une promenade ou une course. [AP1100-5-1]

Les courses (route, montagne ou multi-sport) implique un stress extréme sur les bicyclettes et leurs composants
(comme il sert de cavaliers) et raccourcissent considérablement leur durée d’utilisation. Si vous participez a ces
types d'événements, la vie du produit peut étre raccourcie considérablement selon le niveau et la quantité de
courses. La "brisure normale" d'un composant peut différer grandement entre les usages compétitifs et non-
compétitifs, raisons pour lesquels les cavaliers de rang professionnel utilisent souvent de nouveaux vélos et
composants a chaque saison et font entretenir leurs vélos par des mécaniciens professionnels. Un soin particulier
doit étre placé dans I'examen régulier de votre bicyclette et de ses composants pour vous assurer de votre
sécurité. [AP1100-6-1]

Les aérobarres peuvent exiger des positions de course nouvelles ou différentes pour de nombreux cyclistes. Il est
conseillé de vous exercer en utilisant ces barres dans une zone a faible circulation pour vous habituer aux
changements dans la direction ou les caractéristiques de manoeuvre de votre vélo. Veuillez préter attention en
utilisant ces types de guidon pour la premiére fois. Assurez-vous également de continuer a regarder devant vous
en faisant du vélo et non pas vers le sol. [AB1100-2-1]

Profile Design garantie tous ses produits deux ans pour un achat d’origine.

Pour plus de détails sur la garantie de Profile Design et la politique de Remplacement aprés Accident,
visitez notre site www.profile-design.com/warranty.

www.profile-design.com

3 4 Sistema RM - Lista de Piezas
/\\ﬁ Ref # Ctd. Req. Descripcion de Pieza
\\\%\‘\\(@AP‘TM 1 1 Placa-Sistema RM
&(\?\"f%\ = 2 2 Pemo-Sistema RM
T .
3 1 Colgador-Sistema RM
4 1 Abrazadera-Sistema RM
5(6-7Nm) 5 4 Tornillo-Cabeza llana -M6x20
6 4 Arandela-M6
7 2 Sombra - Negra*
FIG.1 *No llustrado

WARNING &

e Cualquier falla al seguir estes avisos y instrucciones puede resultar en rotura, deslizamiento y o otros
funcionamientos incorrectos de este componente Profile Design causando pérdida de control de la bicicleta con
heridas graves. [AP1100-1-1]

e Cuando quiera instalar cualquier componente nuevo en su bicicleta, asegurese de intentar la instalaciéon
cuidadosamente cercano a su residencia (utilizando su casco), donde no haya obstaculos o trafico. Asegurese
que tudo esté funcionando apropiadamente antes de pasear o correr con la bicicleta. [AP1100-5-1]

Corrida (estrada, montafia o multi-deporte) coloca tensiéon extrema sobre las bicicletas y sus componentes (como
ocurre a los ciclistas) y acorta significativamente las sus vidas Utiles. Si usted participa en estes tipos de
eventos, la vida util del producto puede ser acortada significativamente dependiendo del nivel y totalidad de
corrida. El “desgaste normal” de un componente puede diferir grandemente entre usos competitivos y no-
competitivos, motivo por el cual utilizadores de bicicleta a nivel profesional frecuentemente usan bicicletas y
componentes nuevos a cada temporada y también llevan sus bicicletas para que sean reparadas por mecanicos
profesionales. Cuidado particular debe ser colocado en la verificacién regular de su bicicleta y sus componentes
para asegurar su seguridad. [AP1100-6-1]

Barras de descanso pueden requerir posiciones de montaje que son nuevas o diferentes para muchos ciclistas.
Se recomienda practicar utilizando estas barras en area de trafico bajo para acostumbrarse a cualquier cambio
en las caracteristicas de direcciéon o manoseo de la bicicleta. Tome cuidado al utilizar estes tipos de manillares
por la primera vez. Asegurese también de continuar mirando hacia adelante durante el paseo y no mire hacia
abajo a la tierra. [AB1100-2-1]

Profile Design garantiza todos los sus productos por dos afios a partir da data de compra original.
Para mayores detalles sobre la garantia de Profile Design y Politica de Reemplazo Debido a Colisién visite
www.profile-design.com/warranty

www.profile-design.com
RM System 01/02/2012



